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#!/bin/env python
#
# hina060525.py

from sys import *

from math import *

from random import *

from crypto060525 import * # crypto060525.py U U U

#EEEEEE RSAOD DD O 0D 00000 U OO #sssddtss
# 000D0O0OO00O0OOD
# 00O powermod UUODO O crypto060525.py U OO

# RSAODOODOOO e,n O000O0OO0D0 xODOO0DOOODOO
def encrypt(x,e,n):
return powermod(x,e,n)

# RSAUUODOUOO nODOOD0O 40000000 yOOOOoO
def decrypt(y,d,n):
return powermod(y,d,n)
###dEEE RSAOD OO OO0 000000 OO  ####1H
# 0000000OOO00O0O0DO
# RSAOODODOOO e,n 000D0OD0O x0OD0ODO0OOOOODO
def slowencrypt(x,e,n):
z =1
while e > O:
z = modmul (x,z,n)
e = e-1
return z

#RSAOUODOOOO nOO0O0 40000000 yOOoOOOO
def slowdecrypt(y,d,n):
z =1



while d > O:
z = modmul (y,z,n)
d d-1

return z

R D0 0 00000000 #HEEEEEEEEE

print
print ’--———- ’
k=input(’ 000 p O000O0O0O0O0DOODOOOO (100000 ) &+ %)
if k < 2:
exit (0)

# 00 p 00000 xO00O0O

p = randbit (k)

while solovaystrassen(p)==0:
p+=1

#p 000000 OO0 OO 1.1xk OOODO
q = randbit(round(1l.1%k))
while solovaystrassen(q)==0 or p==q:

q+=1
#n 000 (p0O qOO )
n=#EE DO00O00D0 #4444

#n 000 (nDOODODODO )
m = #### DO U000 ####

# 00000 e 00O (mOOOOOOOO )
e = rand(m)
while gcd(e,m) != 1:

e = rand(m)

# 00000 4000 (modm OO e OO0 )
d = modinv(e,m)
# 0000
print
print > 044
print 'n =%d ( %d OOO )’ % (n,bitlen(n))
print ’e = %d’ % e
print
print 2000 :?
print ’p = %d’ % p
print ’q = %4’ % q
print 'm = %d’ % m
print ’d = %4’ % d
# 0000000000
print
print *000000O00O0O0 (DOOOOOCOOOOO):?
print
for i in range(0,3):

x = rand(n)

y = encrypt(x,e,n)

z = decrypt(y,d,n)
print ’ ug  ’,x
print ’-> 000,y
print ’-> 0007,z
print



print ’Hit Any Key’
stdin.readline()

print > 0000000000 (OOOOO0O0O0O0OO0OO):?
print

for i in range(0,3):

x = rand(n)

y = slowencrypt(x,e,n)

z = slowdecrypt(y,d,n)

print °’ oo ’,x

print ’-> 000,y

print ’-> 0007,z

print

ugod
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ooo
n = 1371443 (21 OO0 )
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